[ Efficiency vs vertpos |
- 0.2

CRRT, S S —
e . F : : :
O e AR AR
[5) I : : :
{0 NI <ERTERRRP ELRRPRIES e o

o : :
R R S TRER e
0.1 ﬁ -------- e

0.08

0.06H T
0.04T 114

0.02

o 1B T T ETIT BT 1 BT
IS i 1
@ 1
B B e o 8 & EPPRPPPRPRP
I T+
0.95

1072 107 1

EI_TTOTTgTT

EltTT newstu
Fit"TT newStu 4
Fit"_TT"newstu
FIt_TT_newStu

Efficienq ——

N 0.2
L e (LA St S CRE
n E : : : : :

Z0.16------ RRES | FERERERE R R P
> : : : : :

2 E : : : : :
R A AR N
B F : : : :

£0.12F : R AR S :
o : : : :

0.1 : | R S :
0.08F -+ ' :
0.06F
0.04F ;
O S & M Sy

Ratio

H
T
+-
%
’

30 -20 -10 O 10 20 30
TP vert z (cm)

0.95!

[ Efficiency vs. sim PV z |
~n 0.2
> N R T

L e A A cTTTTT R I
S o : : : : :
o S A A A A
| R SRk S S O
Pry Eoo : : : : :

R it I AT SR SR S S
OF PP RS 409G RRRS SORS OO 4 MO

0.08F - fi-- Lo % .....
0.06F -4 |y ++ -----

0.04F

efticie

E 3

05 =15 10 -5 0 5 10 15 20

Sim. PV z (cm)




	Contents
	Page 1


